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w. f wew,
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= Yﬂ-rt:
We prove 1t b_‘j Gntradiction
Suwase Wi $W1 cvd W: $' Wi,
Then, we cen fi'\d V.st, veW, véw,
and B, St, U W Uew:
Then, without loss °‘f 3¢mrcl‘ntj, svnm [U+79) e W,

Then we heve U= (Uev) s V) e W,
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w3= v+ (Fviw) € v+ wW.

Hen, viW = U\/
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Gine vitW = vat W,

vit3: Ve vat W

D vz Vat W v Some@ w € W

D V- iz W
= V-V &w
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we heve Vit W= vat (v.»w-rw)
D v+ W= var W.
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= (vir WH (V1+W\+(V3+W))

fo eny ve,

(ve W)t (or W= (vior+ W= ve W

U ve V,
(V*W)‘* (vt W)= o+t W

- | (vtW)= wrlW = vew
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15 cLet v, -, Va € $0nSs, Gy, e
Then, Gy, 4o tenun € spen]S)) Sk V- Vn €S,
o.v.*m-w.\vnecrw]sl\ sinet Wy, "L Vh €S,
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iz ) o, ], S {et, ),
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- Lt = |R.
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Let | be the lavgest Tnteger in fu,—--',n]
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